



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BS (English) 5th Semester Morning Session: Autumn 2025

Registration #	Name	COM 212					ELIN 226					ELIN 314					ELIN 315					ELIT 215					ELIT 225				
		English-III: Communication and Presentation Skills					Introduction to Semantics					Pragmatics					Sociolinguistics					History of English Literature-II					Poetry-I (Classical Poetry)				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BS/ENG/A-22/M/B/016	Muhammad Kazim	-	-	-	-	65	C+	2.5	3	7.5	51	F	-	3	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-		
IS/BS/ENG/A-23/M/001	Aaid Ur Rehman	-	-	-	-	-	-	-	-	-	61	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-23/M/004	Aiman Nisar Rathore	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-23/M/005	Aleena Jamil	-	-	-	-	-	-	-	-	-	61	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-23/M/008	Aqsa Akram	-	-	-	-	-	-	-	-	-	61	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-23/M/009	Areeba Atfal	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-23/M/011	Arooj Ahmed	-	-	-	-	-	-	-	-	-	81	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-23/M/014	Eman Afsar	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-23/M/015	Esha Noor	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-23/M/018	Fatima Batool	-	-	-	-	-	-	-	-	-	61	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-23/M/020	Gul Zaman	-	-	-	-	-	-	-	-	-	51	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-23/M/021	Gulfam Hassan	-	-	-	-	-	-	-	-	-	62	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-23/M/022	Hajra Bibi	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-23/M/024	Hiba Amraiz	-	-	-	-	-	-	-	-	-	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-23/M/025	Hifza Niaz	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-23/M/026	Hina Ameen Tabasum	-	-	-	-	-	-	-	-	-	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-23/M/027	Hira Tahir	-	-	-	-	-	-	-	-	-	62	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-23/M/029	Iqra Jabeen	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-23/M/032	Kiran Iqbal	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-23/M/033	Laiba Asif	-	-	-	-	-	-	-	-	-	86	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-23/M/036	Malka Rehman	-	-	-	-	-	-	-	-	-	-	F	-	3	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-23/M/038	Maryam Shafique	-	-	-	-	-	-	-	-	-	56	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-23/M/045	Muhammad Ans Khan	-	-	-	-	-	-	-	-	-	51	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-23/M/051	Nadeem Ismail	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-23/M/053	Orma Raziq	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-23/M/055	Rabia Bibi	-	-	-	-	-	-	-	-	-	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-23/M/056	Rumaisa Azeem	-	-	-	-	-	-	-	-	-	26	F	-	3	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-23/M/060	Shahida Bibi	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/A-23/M/061	Syeda Eiman Gilani	-	-	-	-	-	-	-	-	-	71	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-		

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BS (English) 5th Semester Morning Session: Autumn 2025

		ELIT 311					ELIT 312					ELIT 313					ENG 355				
		Literary Criticism					Novel-I					Drama-I					Communication and Presentation Skills				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BS/ENG/A-22/M/B/016	Muhammad Kazim	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/ENG/A-23/M/001	Aaid Ur Rehman	83	A	4.0	3	12.0	70	B	3.0	3	9.0	35	F	-	3	-	70	B	3.0	3	9.0
IS/BS/ENG/A-23/M/004	Aiman Nisar Rathore	67	C+	2.5	3	7.5	50	D	1.5	3	4.5	65	C+	2.5	3	7.5	71	B	3.0	3	9.0
IS/BS/ENG/A-23/M/005	Aleena Jamil	75	B+	3.5	3	10.5	55	C	2.0	3	6.0	65	C+	2.5	3	7.5	71	B	3.0	3	9.0
IS/BS/ENG/A-23/M/008	Aqsa Akram	72	B	3.0	3	9.0	56	C	2.0	3	6.0	65	C+	2.5	3	7.5	70	B	3.0	3	9.0
IS/BS/ENG/A-23/M/009	Areeba Atfal	85	A	4.0	3	12.0	70	B	3.0	3	9.0	65	C+	2.5	3	7.5	75	B+	3.5	3	10.5
IS/BS/ENG/A-23/M/011	Arooj Ahmed	86	A	4.0	3	12.0	80	A	4.0	3	12.0	75	B+	3.5	3	10.5	81	A	4.0	3	12.0
IS/BS/ENG/A-23/M/014	Eman Afsar	77	B+	3.5	3	10.5	50	D	1.5	3	4.5	65	C+	2.5	3	7.5	75	B+	3.5	3	10.5
IS/BS/ENG/A-23/M/015	Esha Noor	70	B	3.0	3	9.0	51	D	1.5	3	4.5	65	C+	2.5	3	7.5	70	B	3.0	3	9.0
IS/BS/ENG/A-23/M/018	Fatima Batool	65	C+	2.5	3	7.5	58	C	2.0	3	6.0	65	C+	2.5	3	7.5	77	B+	3.5	3	10.5
IS/BS/ENG/A-23/M/020	Gul Zaman	71	B	3.0	3	9.0	50	D	1.5	3	4.5	65	C+	2.5	3	7.5	66	C+	2.5	3	7.5
IS/BS/ENG/A-23/M/021	Gulfam Hassan	66	C+	2.5	3	7.5	50	D	1.5	3	4.5	65	C+	2.5	3	7.5	70	B	3.0	3	9.0
IS/BS/ENG/A-23/M/022	Hajra Bibi	65	C+	2.5	3	7.5	50	D	1.5	3	4.5	65	C+	2.5	3	7.5	70	B	3.0	3	9.0
IS/BS/ENG/A-23/M/024	Hiba Amraiz	70	B	3.0	3	9.0	50	D	1.5	3	4.5	65	C+	2.5	3	7.5	70	B	3.0	3	9.0
IS/BS/ENG/A-23/M/025	Hifza Niaz	75	B+	3.5	3	10.5	65	C+	2.5	3	7.5	66	C+	2.5	3	7.5	70	B	3.0	3	9.0
IS/BS/ENG/A-23/M/026	Hina Ameen Tabasum	59	C	2.0	3	6.0	65	C+	2.5	3	7.5	65	C+	2.5	3	7.5	75	B+	3.5	3	10.5
IS/BS/ENG/A-23/M/027	Hira Tahir	80	A	4.0	3	12.0	70	B	3.0	3	9.0	70	B	3.0	3	9.0	60	C	2.0	3	6.0
IS/BS/ENG/A-23/M/029	Iqra Jabeen	80	A	4.0	3	12.0	65	C+	2.5	3	7.5	66	C+	2.5	3	7.5	70	B	3.0	3	9.0
IS/BS/ENG/A-23/M/032	Kiran Iqbal	58	C	2.0	3	6.0	50	D	1.5	3	4.5	60	C	2.0	3	6.0	65	C+	2.5	3	7.5
IS/BS/ENG/A-23/M/033	Laiba Asif	85	A	4.0	3	12.0	70	B	3.0	3	9.0	75	B+	3.5	3	10.5	80	A	4.0	3	12.0
IS/BS/ENG/A-23/M/036	Malka Rehman	-	F	-	3	-	56	C	2.0	3	6.0	50	D	1.5	3	4.5	75	B+	3.5	3	10.5
IS/BS/ENG/A-23/M/038	Maryam Shafique	61	C	2.0	3	6.0	65	C+	2.5	3	7.5	65	C+	2.5	3	7.5	66	C+	2.5	3	7.5
IS/BS/ENG/A-23/M/045	Muhammad Ans Khan	61	C	2.0	3	6.0	9	F	-	3	-	65	C+	2.5	3	7.5	65	C+	2.5	3	7.5
IS/BS/ENG/A-23/M/051	Nadeem Ismail	41	F	-	3	-	80	A	4.0	3	12.0	70	B	3.0	3	9.0	70	B	3.0	3	9.0
IS/BS/ENG/A-23/M/053	Orma Raziq	83	A	4.0	3	12.0	75	B+	3.5	3	10.5	75	B+	3.5	3	10.5	80	A	4.0	3	12.0
IS/BS/ENG/A-23/M/055	Rabia Bibi	61	C	2.0	3	6.0	50	D	1.5	3	4.5	65	C+	2.5	3	7.5	65	C+	2.5	3	7.5
IS/BS/ENG/A-23/M/056	Rumaisa Azeem	42	F	-	3	-	50	D	1.5	3	4.5	65	C+	2.5	3	7.5	65	C+	2.5	3	7.5
IS/BS/ENG/A-23/M/060	Shahida Bibi	75	B+	3.5	3	10.5	71	B	3.0	3	9.0	71	B	3.0	3	9.0	70	B	3.0	3	9.0
IS/BS/ENG/A-23/M/061	Syeda Eiman Gilani	82	A	4.0	3	12.0	75	B+	3.5	3	10.5	75	B+	3.5	3	10.5	80	A	4.0	3	12.0

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BS (English) 5th Semester Morning Session: Autumn 2025

Registration #	Name	COM 212					ELIN 226					ELIN 314					ELIN 315					ELIT 215					ELIT 225				
		English-III: Communication and Presentation Skills					Introduction to Semantics					Pragmatics					Sociolinguistics					History of English Literature-II					Poetry-I (Classical Poetry)				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BS/ENG/A-23/M/062	Syeda Iqra Bashir	-	-	-	-	-	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/ENG/A-23/M/063	Syeda Tatheer Zahra	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/ENG/A-23/M/064	Tanveer Abbas	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/ENG/A-23/M/065	Tayyaba Aftab	-	-	-	-	-	-	-	-	-	30	F	-	3	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/ENG/A-23/M/066	Um-E-Habiba Kanwal	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/ENG/A-23/M/071	Zainab Nawazish	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/ENG/A-23/M/072	Zeeshan Muhammad Awan	-	-	-	-	-	-	-	-	-	52	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/ENG/S-23/M/026	Izan Askari (Withheld due to Fee D	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/ENG/S-23/M/034	Malaika Shazi	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	38	F	-	3	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/ENG/S-23/M/041	Muhammad Bin Anjum	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	
IS/BS/ENG/S-23/M/049	Natasha Rasheed	-	-	-	-	-	-	-	-	-	61	C	2.0	3	6.0	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	
IS/BS/ENG/S-23/M/064	Wajeaha Fatima	50	F	-	3	-	-	-	-	-	-	19	F	-	3	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-

CC: 1. Incharge Islamabad Campus, 2. Controller of Exams, Karachi, 3. HOD, 4. Accounts Section, 5. Office File, 6. Notice Board

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD
BS (English) 5th Semester Morning Session: Autumn 2025

		ELIT 311					ELIT 312					ELIT 313					ENG 355				
		Literary Criticism					Novel-I					Drama-I					Communication and Presentation Skills				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BS/ENG/A-23/M/062	Syeda Iqra Bashir	80	A	4.0	3	12.0	65	C+	2.5	3	7.5	37	F	-	3	-	70	B	3.0	3	9.0
IS/BS/ENG/A-23/M/063	Syeda Tatheer Zahra	85	A	4.0	3	12.0	80	A	4.0	3	12.0	80	A	4.0	3	12.0	75	B+	3.5	3	10.5
IS/BS/ENG/A-23/M/064	Tanveer Abbas	52	D	1.5	3	4.5	50	D	1.5	3	4.5	65	C+	2.5	3	7.5	60	C	2.0	3	6.0
IS/BS/ENG/A-23/M/065	Tayyaba Aftab	50	D	1.5	3	4.5	50	D	1.5	3	4.5	55	C	2.0	3	6.0	70	B	3.0	3	9.0
IS/BS/ENG/A-23/M/066	Um-E-Habiba Kanwal	72	B	3.0	3	9.0	35	F	-	3	-	65	C+	2.5	3	7.5	70	B	3.0	3	9.0
IS/BS/ENG/A-23/M/071	Zainab Nawazish	80	A	4.0	3	12.0	70	B	3.0	3	9.0	75	B+	3.5	3	10.5	75	B+	3.5	3	10.5
IS/BS/ENG/A-23/M/072	Zeeshan Muhammad Awan	57	C	2.0	3	6.0	25	F	-	3	-	65	C+	2.5	3	7.5	60	C	2.0	3	6.0
IS/BS/ENG/S-23/M/026	Izan Askari (Withheld due to Fee D)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
IS/BS/ENG/S-23/M/034	Malaika Shazi	52	D	1.5	3	4.5	20	F	-	3	-	59	C	2.0	3	6.0	-	-	-	-	-
IS/BS/ENG/S-23/M/041	Muhammad Bin Anjum	70	B	3.0	3	9.0	-	F	-	3	-	65	C+	2.5	3	7.5	-	F	-	3	-
IS/BS/ENG/S-23/M/049	Natasha Rasheed	72	B	3.0	3	9.0	50	D	1.5	3	4.5	65	C+	2.5	3	7.5	-	-	-	-	-
IS/BS/ENG/S-23/M/064	Wajeaha Fatima	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026